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QUESTION 1
MANAGING A STAGE BOUNDARY

The ABC Company trainers have been accredited and the course booking procedures have been amended. The
“managing a stage boundary\\' process is taking place at the end of stage 3.

Which activity should occur during the “update the business case\\' activity?

A. Update the overall plan with the time and cost taken to develop the “e-learning course\\' and "amended course
booking procedures\\

B. Break the “planned pilot courses\\' down into component products in order to identify the work required to deliver
them.

C. Review whether the possible sales of the training course to external companies are likely to cover the project costs.
D. Review whether a new team manager should be appointed to lead the delivery of the pilot courses during stage 4.

Correct Answer: A

QUESTION 2
HOTSPOT
The project has a cost tolerance of +5% | -5%, of which stage 2 has a tolerance of +£45k 1-£45k.

Lines 1 to 6 in the table below consist of an assertion statement and a reason statement. For each line identify the
appropriate option, from options A to E, that applies. Each option can be used once, more than once or not at all.

Hot Area:
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Assertion Reason
1 | Ifstage 2 exceeds itstarget by £20k the | True-False | When the Stage Plan is True-False |
Stage Plan should be replaced by an updated with activities to
Exception Plan. deal with any deviations
from planned cost and
time, thisiscalled an
ExceptionPlan.
2 | The Team Plan required forthe True-False | Supplierassurance should | True-False
development of the service level confirm that Team Plans
agreement should be produced in are in accordance with
consultation with supplier assurance. relevant supplier standards.
3 | The Stage Plan for stage 2 should be True-False | All Stage Plans are True-False
prepared during theinitiation stage. produced near the end of
the initiation stage.
4 | Afinalstage (stage 5). covering project | True-False | The Project Plancoversall | True-False
closure, should be added to the Project management stages.
Plan.
5 | The cost tolerance planned for each True-False | Project tolerances forcost | True-False
stage should be +5% “5%. ' and time should alwaysbe
allocated equallybetween
all of the stages.
6 | The key deliverables and estimates from | True:False | The feasibility study True-False
the feasibility study should provide a i should confimall project
major input to the Project Brief. costs.

Correct Answer:
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Assertion Reason
1 | If stage 2 exceeds itstarget by £20k the | True-False | When the Stage Plan is True-False |
Stage Plan should be replaced by an updated with activities to
Exception Plan. deal with any deviations
from planned cost and
time, thisiscalled an
ExceptionPlan.
2 | The Team Plan required forthe True-False | Supplier assurance should | True-False
development of the service level confirm that Team Plans
agreement should be produced in are in accordance with
consultation with supplier assurance. relevant supplier standards.
3 | The Stage Plan for stage 2 should be True-False | All Stage Plans are True-False |
prepared during theinitiation stage. produced near the end of
the initiation stage.
4 | Afinalstage (stage 5). covering project | True-False | The Project Plancoversall | True-False
closure, should be added to the Project management stages.
Plan.
5 | The cost tolerance planned for each True-False | Project tolerances forcost | True-False |
stage should be +5% “5%. and time should alwaysbe
allocated equally between
all of the stages.
6 | The key deliverables and estimates from | TruesFalse | The feasibility study True-False |
the feasibility study should provide a ' should confimall project
major input to the Project Brief. costs.
QUESTION 3

Which principle is supported by the activity Evaluate the Project?

A. Continued Business Justification

B. Defined roles and responsibilities

C. Learn from experience

D. Manage by stages

Correct Answer: C

QUESTION 4

Which of the following principles uses Product Descriptions to provide clarity by defining each product\\'s purpose,
composition, derivation, format, quality criteria and quality method?

A. Tailor to suit the project environment
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B. Focus on products
C. Manage by stages
D. Continued business justification

Correct Answer: B

QUESTION 5

Product based planning focuses on which of the following:
1.

Creating product descriptions
2.

Identifying activities

3.

Creating a Product hierarchy
4.

Creating a Product sequence
A. 1,23

B.2,3,4

C.1,3,4

D.1,2,4

Correct Answer: A
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